SOLICITATION RESPONSE FORM

City of Doral ITB No. 2025-05 – Stormwater Improvements to Sub-Basin D-3-1

Date Submitted	05/14/2025
Company Name	RG Underground Engineering, Inc
Date of Entity Formation	04/23/2009
Entity Type (select one)	Corporation / Partnership / LLC / Other:
Corporate Address	14375 SW 120 St Unit 104 Miami, FL 33186
Office Location	14375 SW 120 St Unit 104 Miami, FL 33186
FEI/EIN No.	26-4747215
Authorized Representative (Name and Title)	Ricardo Gonzalez / President

• •		
	\checkmark	State Certified General Contractor License, provided by the State of Florida Construction Industry
		Licensing Board
		Certificate of Competency from Miami-Dade County Construction Trades Qualifying Board as a
		General Contractor

Bidder has the following License (select at least one and attach copy):

- 2. The undersigned Bidder/Proposer agrees, if this Bid is accepted by the City, to enter into an agreement with the City of Doral to perform and furnish all goods and/or services as specified or indicated in the Contract for the Price and within the timeframe indicated in this proposal and in accordance with the terms and conditions of the Contract.
- 3. Bidder/Proposer accepts all of the terms and conditions of the Solicitation, including without limitation those dealing with the disposition of Bid Security. This Bid will remain subject to acceptance for 180 days after the day of Bid opening. Bidder/Proposer agrees to sign and submit the Contract with any applicable documents required by this ITB within ten days after the date of City's Notice of Award (If applicable).
- 4. By responding to this sealed Solicitation, the Bidder/Proposer makes all representations required by the Solicitation and further warrants and represents that Bidder/Proposer acknowledges that it has received and examined copies of the entire Solicitation documents including all of the following addenda:

Addendum No.: _	1	_ Dated:	04/17/25	Addendum No.: _	3	_ Dated:	04/23/25	
Addendum No.: _	2	_ Dated:	04/21/25	Addendum No.:	4	_ Dated:	04/30/25	

- ☐ Check here If no Addenda were issued.
- 5. Bidder/Proposer further warrants and represents that it has familiarized themselves with the nature and extent of the Contract, required goods and/or services, site, locality, and all local conditions and applicable laws and regulations that in any manner may affect cost, progress, performance, or furnishing of the Work.
- 6. Bidder/Proposer further warrants and represents that it has studied carefully all reports and drawings of subsurface conditions and drawings of physical conditions to the extent applicable to the Work, and has obtained and carefully studied (or assumes responsibility for obtaining and carefully studying) all information that pertains to the subsurface or physical conditions at the site or otherwise may affect the cost, progress, performance, or furnishing

of the Work, and no additional examinations, investigations, explorations, tests, reports or similar information or data are or will be required by Bidder/Proposer for such purposes.

- 7. Bidder/Proposer further warrants and represents that it has given the City written notice of all errors or discrepancies it has discovered in the Contract and the resolution thereof by the City is acceptable to Bidder/Proposer.
- 8. Bidder/Proposer further warrants and represents that this Bid/Proposal is genuine and not made in the interest of or on behalf of any other undisclosed person, firm or corporation; Bidder/Proposer has not directly or induced or solicited any other Bidder/Proposer to submit a false or sham Proposal; Bidder/Proposer has not solicited or induced any person, firm or corporation to refrain from submitting; and Bidder/Proposer has not sought by collusion to obtain for itself any advantage over any other Bidder/Proposer or over the City.
- 9. Bidder/Proposer understands that the quantities provided are only provided for proposal evaluation only. The actual quantities may be higher or lower than those in the proposal form.
- 10. Bidder/Proposer understands and agrees that the Contract Price is Unit Rate Contract to furnish and deliver all of the Work complete in place as such the Proposer shall furnish all labor, materials, equipment, tools superintendence, and services necessary to provide a complete Project.
- 11. Communications concerning this Proposal shall be addressed to:

Bidder/Proposer: RG Underground Engineering, Inc

Telephone: 305-386-6293

Email Address: office@rgunderground.com

Attention: Ricardo Gonzalez

12. The terms used in this response which are defined in the above-referenced Solicitation shall have the meanings assigned to them in such Solicitation.

STATEMENT

I understand that a "person" as defined in 287.133(1)(e), Florida Statutes, means any natural person or entity organized under the laws of any state or of the United States with the legal power to enter into a binding Contract and which Bids or applies to Bid on Contracts for the provision of goods or services let by a public entity, or which otherwise transacts or applies to transact business with a public entity. The term "persons" includes officers, directors, executives, partners, shareholders, employees, members, and agents active in management of the entity.

SUBMITTED THIS 14 DAY OF May , 2024.

Company Name: RG Underground Engineering, Inc

Company Address: 14375 SW 120 St Unit 104 Miami, FL 33186

Authorized Representative Signature:

BID PRICE SHEET

ITB 2025-05 Sub Basin D-3-1 BID PRICE SHEET

Item No.	Description	Estimated Quantity	Unit	Unit Price	Total Cost
101-1	Mobilization	1	LS	\$ 195,730.00	\$ 195,730.00
102-1	Maintenance of Traffic	1	LS	\$ 10,880.00	\$ 10,880.00
104-18	Inlet Protection	23	EA	\$ 84.00	\$ 1,932.00
327-70-1	Milling Existing Asphalt Pavement, 1" Average Depth	7535	SY	\$ 4.00	\$ 30,140.00
334-1-52	Superpave Asphaltic Concrete, SP-9.5, PG-76-22	40	TN	\$ 414.80	\$ 16,592.00
337-7-30	Asphalt Conc. Friction Course, Traffic B, FC-9.5, Rubber	415	TN	\$ 207.80	\$ 86,237.00
425-11	Core-drill (Modify) Existing Structure	2	EA	\$ 1,200.00	\$ 2,400.00
425-1361	Inlets, Curb, Type P-6, <10'	2	EA	\$ 8,385.00	\$ 16,770.00
425-2-41	Manholes, P-7, <10'	6	EA	\$ 8,146.00	\$ 48,876.00
425-2-42	Manholes, P-7, <10'	6	EA	\$ 8,846.00	\$ 53,076.00
425-6	Valve boxes, adjust	1	EA	\$ 525.00	\$ 525.00
425-6-1	Meter or Handhole boxes, adjust	1	EA	\$ 525.00	\$ 525.00
430175112	Pipe Culvert, Optional Material, Round, 12" SD	8	LF	\$ 240.00	\$ 1,920.00
430175115	Pipe Culvert, Optional Material, Round, 15" SD	70	LF	\$ 185.00	\$ 12,950.00
430175118	Pipe Culvert, Optional Material, Round, 18" SD	16	LF	\$ 228.00	\$ 3,648.00
430175124	Pipe Culvert, Optional Material, Round, 24" SD	140	LF	\$ 179.00	\$ 25,060.00
430175136	Pipe Culvert, Optional Material, Round, 36" SD	20	LF	\$ 310.00	\$ 6,200.00
443-70-4	24" HDPE French Drain	434	LF	\$ 246.00	\$ 106,764.00
443-70-6	36" HDPE French Drain	340	LF	\$ 302.50	\$ 102,850.00
520-1-10	Construct Concrete Curb & Gutter, Type "F" (Remove and Replace)	50	LF	\$ 52.00	\$ 2,600.00
520-3	Construct Concrete Valley Gutter, (Remove and Replace)	240	LF	\$ 41.00	\$ 9,840.00
522-1	Construct 4" Sidewalk (Remove and Replace)	7	SY	\$ 90.00	\$ 630.00
706-3	Retro-reflective/raised pavement markers	255	EA	\$ 14.00	\$ 3,570.00
710-11101	Painted Pavement Markings, Standard, White, Solid, 6"	0.83	GM	\$ 3,150.00	\$ 2,614.50
710-11124	Painted Pavement Markings, Standard, White, Solid, for Diagonal or Chevron, 18"	355	LF	\$ 2.00	\$ 710.0
710-11125	Painted Pavement Markings, Standard, White, Solid, for Stop Line or Crosswalk, 24"	128	LF	\$ 2.50	\$ 320.00
710-11131	Painted Pavement Markings, Standard, Skip, White, 6"	0.12	GM	\$ 3,375.00	\$ 405.00
710-11170	Painted Pavement Markings, Standard, White, Arrows	24	EA	\$ 18.00	\$ 432.00
710-11201	Painted Pavement Markings, Standard, Yellow, Solid, 6"	0.71	GM	\$ 3,150.00	\$ 2,236.50
710-11224	Painted Pavement Markings, Standard, Yellow, Solid, for Diagonal or Chevron, 18"	180	LF	\$ 1.60	\$ 288.00
710-12231	Painted Pavement Markings, Standard, Skip, Yellow, 6"	0.44	GM	\$ 3,375.00	\$ 1,485.00
711-11101	Thermoplastic, Standard, White, Solid, 6"	0.83	GM	\$ 2,300.00	\$ 1,909.00
711-11124	Thermoplastic, Standard, White, Solid, for Diagonal or Chevron, 18"	355	LF	\$ 3.80	\$ 1,349.00
711-11125	Thermoplastic, Standard, White, Solid, for Stop Line or Crosswalk, 24"	128	LF	\$ 8.00	\$ 1,024.00
711-11131	Thermoplastic, Standard, Skip, White, 6"	0.12	GM	\$ 2,250.00	\$ 270.00
711-11170	Thermoplastic, Standard, White, Arrows	24	EA	\$ 41.00	\$ 984.00
711-11201	Thermoplastic, Standard, Yellow, Solid, 6"	0.71	GM	\$ 2,250.00	\$ 1,597.50
711-11224	Thermoplastic, Standard, Yellow, Solid, for Diagonal or Chevron, 18"	180	LF	\$ 3.90	\$ 702.00
711-12231	Thermoplastic, Standard, Skip, Yellow, 6"	0.44	GM	\$ 2,250.00	\$ 990.00
1060-16	Removal of Existing Stormwater Manhole	4	EA	\$ 1,500.00	\$ 6,000.00

Dedicated Allowance (Permits) - 2% of Base Bid

No.	Description	Estimated Quantity	Unit	Unit Price	Sch	eduled Value
Sub-Total					\$	15,260.63

Contingencies Withdraws - 10% of Base Bid

No.	Description	Estimated Quantity	Unit	Unit Price	Sch	neduled Value
Sub-Total					\$	76,303.15
Grand Total					\$	854,595.28

BIDDER QUALIFICATION STATEMENT

The Bidder's response to this questionnaire will be utilized as part of the City's evaluation to ensure that the Bidder meets, to the satisfaction of the City, the minimum requirements for participating in this Solicitation.

PROPOSER MUST PROVIDE DETAILS FULFILLING THE SOLICITATION'S MINIMUM QUALIFICATIONS. FAILURE TO MEET MINIMUM REQUIREMENTS WILL RESULT IN A DETERMINATION OF NON-RESPONSIVENESS. ADDITIONAL PROJECTS MAY BE ADDED BY COMPLETING ADDITONAL COPIES OF THIS FORM, AS NEEDED. PLEASE REFER TO SECTION 3.3 OF THE ITB

	Projec	t No. 1				
Project Name:	Royal Oaks Sixth Addition Draina	ge Improveme	ent Project			
Project Location:	Various Locations in the Town of Miami Lakes					
Project Description:	Drainage System Installation, milling restoration.	& resurfacing,	thermoplastic pavement marking and site			
Budget/Cost:	\$1,827,568.00 / \$1,780,267.13	Contract Dates:	05/15/23 - 12/31/23			
Owner Name:	Town of Miami Lakes	Reference Name:	Anaily Padron			
Reference Phone No.:	305-512-7133	Reference Email:	padrona@miamilakes-fl.gov			
	Project	t No. 2				
Project Name:	Cutler Ridge Pines Sub Basin Wa	ter Quality Im	provement			
Project Location:	Various Locations in the Town of	Cutler Bay				
Project Description:	Drainage System Installation, milling & resurfacing, thermoplastic pavement marking and site restoration					
Budget/Cost:	\$2,540,114.07 - \$2,377,481.75	Contract Dates:	06/10/24 - 02/28/25			
Owner Name:	Town of Cutler Bay	Reference Name:	Alfredo Quintero			
Reference Phone No.:	305-878-8601	Reference Email:	aquintero@cutlerbay-fl.gov			
	Projec	t No. 3				
Project Name:	NW 158 St Drainage Improvemen	t Project				
Project Location:	NW 158 St between NW 59 Ave & NW 57	7 Ave Miami Lak	res			
Project Description:	Drainage System Installation, milling & re	surfacing, therm	oplastic pavement marking and site restoration			
Budget/Cost:	\$799,296.75 - \$658,899.83	Contract Dates:	10/18/23 - 03/26/24			
Owner Name:	Town of Miami Lakes	Reference Name:	Stanley Merantus			
Reference Phone No.:	954-966-4600	Reference Email:	smerantus@tppfl.gov			

LIST OF PROPOSED SUBCONTRACTORS

BIDDER shall list all Proposed Subcontractors to be used on this project if they are awarded the contract.

SCOPE	SUBCONTRACTOR NAME, ADDRESS AND LICENSE #
milling & resurfacing	C & R Milling and paving, Inc - 1 North Krome Ave Homestead, FL 33030
	CGC1517987
S	
1	

If, prior to Notice of the Award, the City or the Contractor has reasonable objection to and refuses to accept any Subcontractor, Supplier, person or organization listed, the Contractor may, prior to Notice of Award, submit an acceptable substitute without an increase in their bid price.

EXHIBIT "A" REQUIRED REFERENCE FORM



City of Doral 8401 NW 53rd Terrace Doral, Florida 33166

The Next Line to Be Completed by the Firm Being Referenced:

Firm Name: RG Underground Engineering, Inc

ITB No. 2025-05 Stormwater Improvements to Sub-Basin D-3-1

The City of Doral is currently evaluating the qualifications of various firms to provide the above services and the indicated firm has listed you as a reference, having performed similar services for your organization. Please take a few moments to complete the following survey and return it to the Firm Representative who requested it. Your assistance in providing this information is appreciated.

This Section To Be Completed by the Reference Provider:
Project Name: Cutler Ridge Pines Sub Basin Water Quality Improvements
Project Description:
Contract Dates:Budget/Cost:\$2,540,114.07 / \$2,377,481.75
Was the firm responsive to your needs and requests? ☐ Yes ☐ No
Was there good communication between the client and the firm? Yes ☐ No
Was the firm proactive in resolving problems and disputes? ☐ No
Was the staff professional and knowledgeable? ☐ No
Were the services completed on time and within budget?
Has this firm ever been awarded a repeat contract by your organization for similar services?
The Company of the Co
Would you award a contract to this firm again for similar services?
How would you rate the overall performance of the firm:
Excellent
Additional Comments: VERY RESPONSIVE AND RESPONSIBLE CONTRACTOR
Firm and Person Providing Information:
Printed Name: Alfredo Quintero Title: Public Works Director Signature:
Firm Name: Town of Cutler Bay Email: aquintero@cutlerbay-fl.gov
Phone Number: 305-878-8601

EXHIBIT "A" REQUIRED REFERENCE FORM



City of Doral

8401 NW 53rd Terrace Doral, Florida 33166 The Next Line to Be Completed by the Firm Being Referenced: Firm Name: RG Underground Engineering, Inc ITB No. 2025-05 Stormwater Improvements to Sub-Basin D-3-1

The City of Doral is currently evaluating the qualifications of various firms to provide the above services and the indicated firm has listed you as a reference, having performed similar services for your organization. Please take a few moments to complete the following survey and return it to the Firm Representative who requested it. Your assistance in providing this information is appreciated.

This Section To Be Completed by the Reference Provider:
Project Name: Royal Oaks Sixth Addition Drainage Improvements
Project Description:
Contract Dates:Budget/Cost:\$1,827,568.00 / \$1,780,267.13
Was the firm responsive to your needs and requests? ✓ Yes ✓ No
Was there good communication between the client and the firm? ✓ Yes ☐ No
Was the firm proactive in resolving problems and disputes?
Was the staff professional and knowledgeable? ✓ Yes No
Were the services completed on time and within budget? ✓ Yes No
Has this firm ever been awarded a repeat contract by your
organization for similar services?
Would you award a contract to this firm again for similar services? ✓ Yes No
How would you rate the overall performance of the firm:
▼ Excellent
Additional Comments:
-
Firm and Person Providing Information:
Printed Name: Anaily Padron Title: Capital Improvement Project Manager Signature:
Firm Name: Town of Miami Lakes Email: padrona@miamilakes-fl.gov
Phone Number: 305-512-7133

BIDDER/PROPOSER AFFIDAVITS

	RG Underground Eng	00.4747045	5
	14375 SW 120 St Un		
		State: FL	Zip: <u>33186</u>
		nd affirm that I am an authorized agent of ollowing statements and certifications on Bi	
Ownership Disc	closure		
		above-named Bidder hereby discloses the fol reater ownership interest in Bidder (suppleme	
	Name	Address	% Ownership
Ricardo Gonza	alez	9232 SW 142 Ct Miami, FL 33175	100%
ne ahove-named F	Ridder hereby disclos	es the following subcontractors (supplement a	as needed).
ic above-named E	Name	Address	% Ownership

Bidder hereby recognizes and certifies that no elected official, board member, or employee of the City of Doral ("City") shall have a financial interest in any transactions or any compensation to be paid under or through any transactions between Bidder and City, and further, that no City employee, nor any elected or appointed officer (including City board members) of the City, nor any spouse, parent or child of such employee or elected or appointed officer of the City, may be a partner, officer, director or proprietor of Bidder, and further, that no such City employee or elected or appointed officer, or the spouse, parent or child of any of them, alone or in combination, may have a material interest in the Bidder. Material interest means direct or indirect ownership of more than 5% of the total assets or capital stock of the Bidder.

Any exception to these above-described restrictions must be expressly provided by applicable law or ordinance and be confirmed in writing by City. Further, Bidder recognizes that with respect to any transactions between Bidder and City, if any Bidder violates or is a party to a violation of the ethics ordinances or rules of the City, the provisions of Miami-Dade County Code Section 2-11.1, as applicable to City, or the provisions of Chapter 112, part III, Fla. Stat., the Code of Ethics for Public Officers and Employees, such Bidder may be disqualified from furnishing the goods or services for which the bid or proposal is submitted and may be further disqualified from submitting any future bids or proposals for goods or services to City. The term "Bidder," as used herein, include any person or entity making a proposal herein to City or providing goods or services to City.

2. Public Entity Crimes

- 1. Bidder is familiar with and understands the provisions of Section 287.133, Florida Statutes
- 2. Bidder further understands that a person or affiliate who has been placed on the convicted Bidder list following a conviction for a public entity crime may not submit a bid, proposal, or reply on a contract to provide any goods or services to a public entity; may not submit a bid, proposal, or reply on a contract with a public entity for the construction or repair of a public building or public work; may not submit bids, proposals, or replies on leases of real property to a public entity; may not be awarded or perform work as a contractor, supplier, subcontractor, or consultant under a contract with any public entity; and may not transact business with any public entity in excess of the threshold amount provided in s. 287.017 for CATEGORY TWO for a period of 36 months following the date of being placed on the convicted Bidder list.

3. Based on information and belief, the statement which I have marked below is true in relation to the entity

submitting this sworn statement. (INDICATE WHICH STATEMENT APPLIES.) Neither the entity submitting this sworn statement, nor any of its officers, directors, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity, nor any affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989. _____ The entity submitting this sworn statement, or one or more of its officers, directors, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity, or an affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989. The entity submitting this sworn statement, or one or more of its officers, directors, executives, partners, shareholders, employees, members, or agents who are active in the management of the entity. or an affiliate of the entity has been charged with and convicted of a public entity crime subsequent to July 1, 1989. However, there has been a subsequent proceeding before a Hearing Officer of the State of Florida, Division of Administrative Hearings and the Final Order entered by the Hearing Officer of the State of Florida, Division of Administrative Hearings and the Final Order entered by the Hearing Officer determined that it was not in the public interest to place the entity submitting this sworn statement on

3. Compliance With Foreign Entity Laws

Applicant certifies as follows:

- a. Bidder is not owned by the government of a foreign country of concern, as defined in Section 287.138, Florida Statutes.
- b. The government of a foreign country of concern does not have a controlling interest in Bidder, as defined in Section 287.138, Florida Statutes.
- Bidder is not organized under the laws of a foreign country of concern, as defined in Section 287.138, Florida Statutes.
- d. Bidder does not have a principal place of business in a foreign country of concern, as defined in Section 287.138, Florida Statutes.
- e. Bidder is not on the Scrutinized Companies with Activities in Sudan List or the Scrutinized Companies with Activities in Iran Terrorism Sectors List, created pursuant to s. 215.473.
- f. Bidder is not engaged in business operations in Cuba or Syria.

the convicted Bidder list. (Attach a copy of the final order.)

g. Bidder is not participating in a boycott of Israel, and is not on the Scrutinized Companies that Boycott Israel list in accordance with the requirements of Sections 287.135 and F.S. 215.473, Florida Statutes

4. Disability, Nondiscrimination, and Equal Employment Opportunity

Applicant certifies that Bidder is in compliance with and agrees to continue to comply with, and ensure that any subcontractor, or third party contractor under any and all contracts with the City of Doral complies with all applicable requirements of the laws listed below including, but not limited to, those provisions pertaining to employment, provision of programs and services, transportation, communications, access to facilities, renovations, and new construction.

- The American with Disabilities Act of 1990 (ADA), Pub. L. 101-336, 104 Stat 327, 42 USC 1210112213 and 47 USC Sections 225 and 661 including Title I, Employment; Title II, Public Services; Title III, Public Accommodations and Services Operated by Private entities; Title IV, Telecommunications; and Title V, Miscellaneous Provisions.
- The Florida Americans with Disabilities Accessibility Implementation Act of 1993, Section 553.501 553.513, Florida Statutes.
- o The Rehabilitation Act of 1973, 229 USC Section 794.
- The Federal Transit Act, as amended 49 USC Section 1612.
- o The Fair Housing Act as amended 42 USC Section 3601-3631

5. Conformance with OSHA Standards

Applicant certifies and agrees that Applicant has the sole responsibility for compliance with all the requirements of the Federal Occupational Safety and Health Act of 1970, and all State and local safety and health regulations, and in the event the City engages Bidder, Bidder agrees to indemnify and hold harmless the City of Doral, against any and all liability, claims, damages losses and expenses the City may incur due to the failure of itself or any of its subcontractors to comply with such act or regulation in the performance of the contract.

6. E-Verify Program Affidavit

Affiant certifies the following:

- a. Affiant is familiar with and understands the provisions of Section 448.095, Florida Statutes and 48 CFR 52.222-54 and has sufficient knowledge of the personnel practices of the Bidder to execute this Declaration on behalf of the Bidder.
- b. Bidder has registered with and utilizes the federal work authorization program commonly known as E-Verify or any subsequent replacement program, in accordance with the applicable provisions and deadlines established in F.S. 448.095, which prohibits the employment, contracting or sub-contracting with an unauthorized alien.
- c. Bidder does not knowingly employ Affiants or retain in its employ a person whose immigration status makes them ineligible to work for the Bidder.
- d. Bidder has verified that any subcontractors utilized to deliver goods or services to the City through the Contractor's contract with the City use the E-Verify system and do not knowingly employ persons whose immigration status makes them ineligible to work for the subcontractor. The undersigned further confirms that it has obtained all necessary affidavits from its subcontractors, if applicable, in compliance with F.S. 448.095, and that such affidavits shall be provided to the City upon request.
- e. Failure to comply with the requirements of F.S. 448.095 may result in termination of the Bidder's contract(s) with the City of Doral.

7. No Contingency Affidavit

Affiant certifies the following:

a. Neither Bidder nor any principal, employee, agent, representative or family member has promised to pay, and Bidder has not and will not pay, a fee the amount of which is contingent upon the City of Doral awarding a contract.

- b. Bidder warrants that neither it, nor any principal, employee, agent, or representative has procured, or attempted to procure, a contract with the City of Doral in violation of any of the provisions of the Miami- Dade County conflict of interest and code of ethics ordinances.
- c. Bidder acknowledges that a violation of this warranty may result in the termination of any contracts and forfeiture of funds paid, or to be paid, to the Bidder if awarded a contract.

8. Copeland Anti-Kickback Affidavit

Affiant certifies that no portion of any sums will be paid to any employees of the City of Doral, its elected officials, or its consultants, as a commission, kickback, reward or gift, directly or indirectly by Bidder or any member of Bidder's firm or by any officer of the corporation in exchange for business with the City of Doral.

9. Non-Collusion Affidavit

- I, the undersigned affiant, swear or affirm that:
- a. Affiant is fully informed respecting the preparation and contents of the attached Bid/Proposal by Contractor and of all pertinent circumstances respecting such Bid/Proposal.
- b. Such Bid/Proposal is genuine and is not a collusive or sham Bid/Proposal.
- c. Neither the said Contractor nor any of its officers, partners, owners, agents, representatives, employees or parties in interest, including Affiant, have in any way colluded, conspired, connived or agreed, directly or indirectly, with any other firm or person to submit a collusive or sham Bid/Proposal in connection with the Work for which the attached Bid/Proposal has been submitted; or to refrain from bidding in connection with such Work; or have in any manner, directly or indirectly, sought by agreement or collusion, or communication, or conference with any firm or person to fix any overhead, profit, or cost elements of the Bid/Proposal or of any other person submitting a response to the solicitation, or to fix any overhead, profit, or cost elements of the quoted price(s) or the quoted price(s) of any other bidding/proposing person, or to secure through any collusion, conspiracy, connivance, or unlawful agreement any advantage against the City or any person interested in the proposed Work.
- d. The price(s) quoted in the attached Bid/Proposal are fair and proper and are not tainted by any collusion, conspiracy, connivance, or unlawful agreement on the part of the Contractor or any other of its agents, representatives, owners, employees or parties in interest, including this Affiant.

10. Drug Free Workplace Program

Bidder, in accordance with Florida statute 287.087 hereby certifies that the Bidder does all of the following:

- a. Publishes a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- b. Informs Employees about the dangers of drug abuse in the workplace, the business' policy of maintaining drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
- c. Gives each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (a).
- d. In the statement specified in subsection (a), notifies the employees that, as a conditions of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace no later than five (5) days after such conviction.
- e. Imposes a sanction on, or require the satisfactory participation in, a drug abuse assistance or rehabilitation program if such is available in the employee's community, by any employee who is so convicted.

Exhibit A - Required S	Submission	Forms
------------------------	------------	-------

f. Makes a goo	d faith effort to continu	ue to maintain a	drug-free wo	orkplace through	implementation o	f this section.
	Select here if Not A	pplicable				
11. Cone of Silence	Certification					
	and that Affiant has re further certify that nei					
		BIDDER AF	FIRMATION			
and attest under per provided above on b with all requirements	iant, being first duly so nalty of perjury as the ehalf of Bidder are tru outlined in these City ements sworn to in the attested	proposed Bidde e to the best of of Doral Affida	ler for City o affiant's knov vits. Bidder a	f Doral that the or wledge and belief cknowledges it is	certifications and f and that Bidder s required to com	statements is compliant ply with and
RG Underg Bidder Name Affiant Signa	MA	nc	_	05/14/25 Date Signed Ricardo Gonzalez Affiant Name & Ti		
STATE OF COUNTY OF DAT	DE					
20 <u>25</u> by means of (ment was affirmed, su physical presence o own to me or who pro	r □ online notar	rization, by _	Ricardo Gonzale	day or	<u>y</u>
[Notary Seal]			-	Notary Ru	blic for the State	of FL
Notary Cor My Cor	REBECA GONZALEZ Public - State of Florida nmission # HH 600563 nm. Expires Jan 10, 2029 ugh National Notary Assn.			My comm	ission expires: 0	1/10/29

CONFLICT OF INTEREST DISCLOSURE

Business Name: _R	RG Underground Engineering, In	IC					
D.B.A.:		Fe	deral I.D	. No.: <u>26-474721</u>	15		
Business Address:	14375 SW 120 St Unit 104			ğ	ā.		
City: Miami	Stat	e:F	L	Z	Zip: _	33186	
with the City of Dora a relationship with a	business entities interested i I's conflict of interest policies City of Doral official or empl dor shall disclose the informa	as sta oyee,	ated with an imme	in the certification ediate family mem	sec	ction below. If a v	endor has
vendor's com 2. No retired or than one (1) y 3. No City emplo	al or employee or City emplo pany or is deriving personal separated City official or emp year has an ownership intere oyee is contemporaneously e by declares it has not and w to any City employee or elec	finance bloyee st in ve employ vill not	sial gain f who has endor's (yed or pro provide	rom this contract been retired or s Company. ospectively to be gifts or hospitalit	sepai emp ty of	rated from the C ployed with the ver	ity for less endor.
	Conflict of In	teres	Disclos	ure*	200		4454, 2455-72
or immediate far	Doral employees, elected off mily members with whom the tial conflict of interest:		() Inte	ationship to emplorest in vendor's c er (please describ	omp	any	
	N/A			N/A			
0			(VNo	Conflict of Interes	st		
*Disclosing a pote not disclose po	ential conflict of interest does tential conflicts of interest an doing i	not a d they busine		ally disqualify ver ected by the City,		rs. In the event v ndor will be exem	endors do npt from
The second of th	nis Conflict-of-Interest Disc orrect to my knowledge and Vendor k	belief	and I ha				
\	May	05/	14/25	Ricardo Gonzale	ez / l	President	
Signature of A	uthorized Representative	Ε	Date	Printed Name	of Au	uthorized Repres	entative

(IF CORPORATION OR LLC)

I HEREBY CERTIFY that at a meeting of the Board of Directors of RG Underground Engineering, Inc., a
corporation organized and existing under the laws of the State of FL, held on the 05 day of May,
a resolution was duly passed and adopted authorizing Ricardo Gonzalez (Name) as President (Title)
of the corporation/company to execute agreements on behalf of the corporation/company and providing that
their execution thereof, attested by the secretary of the corporation/company, shall be the official act and deed
of the corporation/company. I further certify that said resolution remains in full force and effect.
IN WITNESS WHEREOF, I have hereunto set my hand this 14 day of May , 2025. Secretary Signature: Print Name: Ricardo Gonzalez
STATE OF FL COUNTY OF DADE
The foregoing instrument was affirmed, subscribed, and sworn to before me this14day of May, 20_25_ by means of √physical presence or □ online notarization, by _Ricardo Gonzalez
who is personally known to me or who produced the following identification:
[Notary Seal]
Notary Public for the State of FL
My commission expires: 01/10/29

REBECA GONZALEZ
Notary Public - State of Florida
Commission # HH 600563
My Comm. Expires Jan 10, 2029
Eonded through National Notary Assn.

TRENCH SAFETY FORM

Bidder acknowledges that the Florida Trench Safety Act, Section 553.60 et seq, Fla. Stat. which became effective October 1, 1990, shall be in effect during the period of construction of the Project. The Bidder by signing and submitting the Bid is, in writing, assuring that it will perform any trench excavation in accordance with applicable trench safety standards. The Bidder further identifies the following separate item of cost of compliance with the applicable trench safety standards as well as the method of compliance:

Cost

Total: \$\$1,050.00	
Totali y	

Bidder acknowledges that this cost is included in the applicable items of the Bid and in the Total Base Bid. Failure to complete the above may result in the bid being declared non-responsive.

The Bidder is, and the CITY and ENGINEER are not, responsible to review or assess Bidder's safety precautions, programs of costs, of the means, methods, techniques or technique adequacy, reasonableness of cost, sequences of procedures of any safety precaution, program or cost, including but not limited to, compliance with any and all requirements of Section 553.60 et. seq., Fla. Stat. cited as the "Trench Safety Act". Bidder is, and the CITY and ENGINEER are not, responsible to determine, if any safety or safety related standards apply to the Project, including but not limited to, the "Trench Safety Act".

Witness Signature	Bidder's Signature
Modesto Fernandez Printed Name	Ricardo Gonzalez Printed Name
05/14/25	President
Date	Title 05/14/25
	Date

Method of Compliance

FORM OF BID BOND

STATE OF) COUNTY OF)	PC Underground
the State of Florida in the sum of Five Percent of	bound unto the City of Doral, a municipal corporation of Dollars (\$_5% amt of bid), lawful money sum and truly to be made, we bind ourselves, our heirs,
THE CONDITION OF THIS OBLIGATION IS May 14, 20 25 for: Stormwater Impr	SUCH that the Principal has submitted the Bid dated rovent to SUb Basin D-3-1 ITB 2025-05
of five percent (5%) of the Base Bid be submitted if awarded the Contract, enter into a written Cor	submission of said Bid that a or Bid Bond in the amount ed with said Bid as a guarantee that the BIDDER would, attract with the City for the performance of said Contract, or written notice having been given of the Award of the
consecutive calendar days after written notice the City of Doral and furnishes the Performance an amount equal to one hundred percent (10 Certificates of Insurance, then this obligation side and payable to the City of Doral and the St	oligation are such that if the Principal within ten (10) of such acceptance, enters into a written Contract with e and Payment Bonds, satisfactory to the City, each in 10%) of the Contract Price, and provides all required shall be void; otherwise the sum herein stated shall be urety herein agrees to pay said sum immediately, upon of the United States of America, as liquidated damages
	arties have executed this instrument under their several
seals this 14th day of May each corporate party being hereto affixed and representative. IN PRESENCE OF:	these presents being duly signed by its unidersigned. RG Underground Engineering, Inc.
(Individual or Partnership Principal)	(Business Name)
ATTEST	14375 SW 120 St Unit 104 (Business Address) Miami, FL 333186 (City/State/Zip)
(Corporate Surety) Maria Li	305-386-6293: (Business Phone)
ITB No. 2025-05	Surety: FCCI Insurance Company 6300 University Parkway, Sarasota, FL 34240 BY: Mayra Rodriguez, Atty-in-fact & FI Res Agent 800-226-3224



GENERAL POWER OF ATTORNEY

Know all men by those presents: That the FCCI Insurance Company, a Corporation organized and existing under the laws of the State of Florida (the "Corporation") does make, constitute and appoint:

Mayra Rodriguez; Fausto Alvarez, Jr., Claudio Rubiera, Norman L. Morris

Each, its true and lawful Attorney-In-Fact, to make, execute, seal and deliver, for and on its behalf as surety, and as its act and deed in all bonds and undertakings provided that no bond or undertaking or contract of suretyship executed under this authority shall exceed the sum of (not to exceed \$30,000,000.00): \$30,000,000.00

This Power of Attorney is made and executed by authority of a Resolution adopted by the Board of Directors. That resolution also authorized any further action by the officers of the Company necessary to effect such transaction.

The signatures below and the seal of the Corporation may be affixed by facsimile, and any such facsimile signatures or facsimile seal shall be binding upon the Corporation when so affixed and in the future with regard to any bond, undertaking or contract of surety to which it is attached.

In witness whereof, the FCCI Instruction officers and its corporate Seal to be here			d these present day of	s to be signed by July	its duly authorize	ed
1		ANCE TO ANCE	_ day or	AN)	_, <u>=020</u> ,	
Attest: Christian D. Well	80	- NEORPORA		(O)	.	
Christina D. Welch, President FCCI Insurance Compa		SEAL	N. N.	Christopher EVP, CFO, Treas		
r dor matrando dompar		NORION.	7.	FCCI Insuran		
State of Florida		***************************************	are the second			
County of Sarasota						
Before me this day personally a the foregoing document for the purposes	appeared Cl s expressed	hristina D. Weld therein.	h, who is perso	onally known to n	ne and who exe	cuted
My commission expires: 2/27/2027	AND PLE	PEGGY SNOW		Regan S	now	
iny commission expires. Zizitzozi	Comm	nission # HH 326535		Reggo S Notary Pu	iblic	
	MONTH ENDIN	as February 27, 2027				
State of Florida County of Sarasota						
Before me this day personally a the foregoing document for the purposes			air, who is pers	onally known to r	me and who exe	cuted
My commission cypings 2/27/2027	4	PEGGY SNOW		Peggg S	Can	
My commission expires: 2/27/2027	A SCHOOL -	ission # HH 326535 s February 27, 2027	-	Notary Pu		
	ANNO.	**************************************				
		CERTIFICAT	Έ			
I, the undersigned Secretary of I	FCCI Incura	nce Company	a Florida Corpo	ration DO HERE	BY CERTIFY th	at the
foregoing Power of Attorney remains in	full force an	d has not been	revoked; and f	urthermore that the	he February 27,	2020
Resolution of the Board of Directors, refe	erenced in s	aid Power of Att	orney, is now ir	force.		
		Dated	this 14th	day of May		2025
	AN WEST			ON.		
	15	\$ 10 P	Nadarahan Cha	CUTTO-	Constant	
9				cair, EVP, CFO, Tre Cl Insurance Comp		
4 IONA 2500 NA 04 - 72004	Non-	× /			n n	
1-IONA-3592-NA-04, 7/2021		800				

Ron DeSantis, Governor

Melanie S. Griffin, Secretary



STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CONSTRUCTION INDUSTRY LICENSING BOARD

THE UNDERGROUND UTILITY & EXCAVATION CO HEREIN IS CERTIFIED UNDER THE PROVISIONS OF CHAPTER 489, FLORIDA STATUTES

GONZALEZ, RICARDO

RG UNDERGROUND ENGINEERING INC 14375 SW 120 ST UNIT 104

MIAMI - FL 33186

LICENSE NUMBER: CUC1224867

EXPIRATION DATE: AUGUST 31, 2026

Always verify licenses online at MyFloridaLicense.com

ISSUED: 08/22/2024

Do not alter this document in any form.

This is your license. It is unlawful for anyone other than the licensee to use this document.





Underground Engineering Inc. Drainage Projects in the last 5 years

Project	Contact	Duration	Amount
Drainage Improvement Project M. Sites	Mercedes Barreras - DTPW	270 days	\$598,343.44
20190189	Ph: 786-222-9912		
	Fax: 305-375-2547		
	Mercedes.barreras@miamidade.gov		
Royal Oaks Drainage & Roadway Improvements	Omar Santos - Town of Miami Lakes	230 days	\$1,129,433.00
2019-19	Ph: 786-247-5507	,	
	santoso@miamilakes-fl.gov		
Vista Verde Drainage Improvements phase 3	Guillermo Hidalgo – City of Miami Gardens	360 days	\$1,334,385.00
19-20-002	Ph: 786-273-6869		
	ghidalgo@miamigardens-fl.gov		
West Lakes Drainage & Roadway Improvements	Omar Santos- Town of Miami Lakes	360 days	\$2,158,997.94
2020-11	Ph: 786-247-5507		Q2,130,337131
	See a control production of the control of the cont		
	santoso@miamilakes-fl.gov		
NW 83 rd Place Drainage Improvements	Omar Santos – Town of Miami Lakes	90 days	\$98,310.00
2021-45	Ph: 786-247-5507	The second secon	,
	santoso@miamilakes-fl.gov		
46 th Years CDBG Drainage Improvements	Joselaine Pateau – City of Hallandale Beach	120 days	\$146,771.40
2020-2021-003	Ph: 954-357-4911		
	jpateau@hallandalebeachfl.gov		
SW 50 St & SW 182 Terrace Drainage Improvements	Emily Aceti – Town of Southwest Ranches	90 days	\$148,834.50
21-007	Ph: 954-343-7453		
	eaceti@southwestranches.org		
NW 166 St Drainage Improvement Project ITB 2022-25	Anaily Padron – Town of Miami Lakes Ph: 305-364-		
WV 100 St Dramage improvement Project No 2022-23	6100 ext 1133		
	padrona@miamilakes-fl.gov	160 days	¢400 E70 20
		160 days	\$498,578.30
West Lakes Gardens Drainage Improvement Project	Anaily Padron – Town of Miami Lakes		-
TB 2022-34	Ph: 305-364-6100 ext 1133		
	padrona@miamilakes-fl.gov	330 days	\$1,819,162.65
		Soo days	72,023,102.03
Royal Oaks Sixth Addition Drainage Improvement	Anaily Padron - Town of Miami Lakes Ph: 305-364-		
Project ITB 2023-	6100 ext 1133		
12	padrona@miamilakes-fl.gov	230 days	\$1,780,267.13
			17-1.00/10/11

NW 158 St Drainage Improvement Project ITB 2023-20	Stanley Merantus - 954-966-4600 smerantus@tppfl.gov	160 days	\$855,768.32
Saga Bay 1.5 Sub Basin Water Quality Improvement Project ITB 22-02	Alfredo Quintero - Town of Cutler Bay Ph: 305-234-4262 - aquintero@cutlerbay-fl.gov	300 days	\$1,315,473.75
Cutler Ridge Pines Sub Basin Water Quality Improvement Project ITB 24-01	Alfredo Quintero – Town of Cutler Bay Ph: 305-234-4262 - aquintero@cutlerbay-fl.gov	330 days	\$2,377,481.75